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M.A./M.Sc. (Fourth Semester)
EXAMINATION, MAY- JUNE, 2022

GEOGRAPHY
Paper XVII

Agricultural Geography

Time : Three Hours] [Maximum Marks : 80

     

Note : Attempt all sections as directed.



(Section-A)

 

(Objective/Multiple Choice Questions)
(1 mark each)

    

Note : Attempt all questions.

  

Choose correct answer.

P.T.O.
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1.      
    

(A)  

(B) 

(C) 

(D) 

"Agricultural geography deals with the description and
explanation of regional differentiation of agricultural char-
acteristics" who define?

(A)  Brookfield

(B) Zimmerman

(C) Reeds

(D) Whitlessey

2.   

(A) 

(B) 

(C)   

(D)   

Agricultural development occur in 

(A) Stone era

(B) Pre-historic

(C) Neolithic

(D) None of these
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 (Unified
approach)

(A)  

(B)  

(C)  

(D)  

Which approach of agricultural geography is study termed
as Unified approach:-

(A) Systematic Approach

(B) Regional Approach

(C) Systematic Analysis Approach

(D) Ecosystem Approach

4. 
 

(A) 

(B)   

(C) 

(D) 

Which scholar recognized the Principal of Environmen-
tal determinism in relation to the origin of agriculture?

(A) Coldwell

(B) Binfolrd and pearlread

(C) Jainik

(D) Child
P.T.O.
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5.      

(A) 

(B) 

(C) 

(D) 

Statistical methods used in agriculture from:-

(A) 

(B) 

(C) 

(D) 

 

(A) 

(B) 

(C) 

(D) 

When was The National Land Use Policy formulated in
India?

(A) 

(B) 

(C) 

(D) 
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7.   

(A) 

(B) 

(C) 

(D) 

The main Rabi crop of India is:-

(A) Wheat

(B) Rice

(C) Sugarcane

(D) Soyabean

8. 
 

(A) 

(B)  

(C) 

(D) 

Who was determined the level of agricultural potential by
using rank-cooefficient method-

(A) Enedy

(B) M.G. Kendall

(C) J.L.Buck

(D) L.D. Stamp

P.T.O.
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9.          
     

(A)     

(B)  

(C)     

(D)  

Whose method was used by Prof. Shafi in India to deter-
mine productivity in Uttar Pradesh?

(A) Ranking coefficient method of Kendall

(B) Land carrying capacity method of stamp

(C) Production per unit of farm labour method of khusro

(D) None of these

10.            
 

(A)   

(B)   

(C)    

(D)  

Kiku Kazu Doi detected crop combination by which
method?

(A) Minimum Deviation method

(B) Minimum Square method

(C) Maximum Positive deviation method

(D) Square method
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11.    

(A) 

(B) 

(C)   

(D) 

Von Thunen was a German scholar, what were they origi-
nally?

(A) Industrialist

(B) Geographer

(C) Agricultural Manager

(D) Former

12. "Major agricultural regions of the earth"
  

(A) 

(B) 

(C) 

(D) 

In which year published the Whitlessey's book "Major ag-
ricultural regions of the earth"?

(A) 

(B) 

(C) 

(D) 

P.T.O.
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13.  

(A) 

(B) 

(C) 

(D)  

Land use survey of Dudley Stamp is based on which coun-
try?

(A) Germany

(B) France

(C) U.S.A.

(D) Great Britain

14.   

(A)  

(B)  

(C) 

(D)  

Which one of the following is related to Tribal Economy?

(A) Intensive cultivation

(B) Footloose industry

(C) Mining and Quarrying

(D) Shiftting Cultivation
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15.
    

(A)  

(B)  

(C)   

(D) 

The intensive cultivation of vegetables, fruits and flowers
in the periphery of cities in U.S.A. is called:

(A) Truck farming

(B) Factory farming

(C) Market gardening

(D) Agri-farming

16. 


(A) 

(B) 

(C) 

(D) 

The Economic landscape of which agro-climate zone has
changed to Indira Gandhi Canal :

(A) Gujarat

(B) Rajasthan

(C) Haryana

(D) Punjab

P.T.O.
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17.   

(A) 

(B) 

(C)     

(D)   

Balanced diet is-

(A) Get stubbed

(B) In which contains more sweet ingredients

(C) In which all the nutrients of the food are present

(D) None of the above

18.  

(A) 

(B) 

(C) 

(D) 

Which type of diet causes Malnutrition-related diseases?

(A) Quantitative

(B) Qualitative

(C) Starvation

(D) Un-employment
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19. 


(A)  

(B)  

(C)  

(D)  

How much colorie is required by an adult person per day?

(A) 1700 calorie

(B) 1900 calorie

(C) 2100 calorie

(D) 2400 calorie

20.   

(A)  

(B)  

(C)  

(D)  

When was the Micro irrigation plan started in India?

(A) March 2002

(B) March 2004

(C) January 2004

(D) January 2006

P.T.O.
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 

(Section- B)

 

(Very Short Answer Type Questions)

(2 marks each)

      

Note : Attempt all questions. Write your answer using 2-
3 sentences.

1.       

Define development order in agriculture.

2.     

Describe the classification of land holdings.

3.      

Explain the causes of hunger in undeveloped countries.

4. 

What do you understand by 'Degree of Commercializa-
tion'?

5.    

Explain the cropping intensity.



[13]

F - 899

6.            
 

Which scholar in 1826 made an important contribution in
the field of agricultural geography.

7. 

What is diet? Explain.

8.     

Define agricultural labour.



(Section - C)

 

Short Answer Type Questions)

(3 marks each)

          


Note : Attempt all questions. Write your answer 75 words.

1.      

Explain the sources of agricultural data.

2.         

P.T.O.
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Explain the regional approaches to the study of agricul-
tural geography.

3.        

Explain the economic factors of agriculture land use.

4.      

Explain agricultural diversity and concentration.

5. 

What do you understand by land use? Explain.

 
   

What are the problems of landless labours in India? Give
suggestions for the solution of these problems.

      

Explain the concept of hungerness.

          


Write an essay on Women Employment Scenario in ag-
ricultural sector in India.
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

Section D

  

(Long Answer Type Questions)

(5 marks each)

     


Note : Attempt all questions. Write your answer using
150 words.

        

Describe nature, scope and significance of Agricultural
Geography.

          


Evaluate the agricultural policy and planning related to
land use.

         
   

Critically evaluate Von Thunen's model to agricultural lo-
cation in present context.

P.T.O.
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          
   

What is food security? Discuss the present policies of
Indian Government regarding it.


